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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
’ 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM#%#8% % = -~ = —-|3m%xHZ5 -~ = = =
s 1.00/0.00 ~ 6.50 81.86] =Ly |0.00 ~ 650 1.71 8.63 Lo 1.00] 500 ~ 7.75 81.86| =Lyt | 500 ~ 7.75| 1.71 8.63
5 100kN/ Mm% 2 % 1.00[0.00 ~ 0.17 102.43|3mEBZB| - ~ = - —| 100kN/m%i#BZ % 1.00( 10.69 ~ 11.12 102.43| 3mE# 25 -~ = = =
s 1.00{0.17 ~ 7.95 100.00f Z=h st |0.00 ~ 7.95| 2.28 11.52 Lo 1.00] 5.00 ~ 10.69 100.00| =hList | 500 ~ 11.12] 228 11.52
3 100kN/mM%BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
s 1.00]0.00 ~ 7.67 98.32| #hLls |0.00 ~ 7.67| 2.37 11.96 Lo 1.00] 5.00 ~ 10.81 98.32| =nList | 500 ~ 10.81| 237 11.96
4 100kN/mM##8 %% 1.00{ 0.00 ~ 0.69 110.22| 3m%*#BZ 5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.60 ~ 12.65 110.22| 3m%#BZ % =l ~ = = =
s 1.00]0.69 ~ 847 100.00f Z=h st |0.00 ~ 8.47] 2.13 10.76 s 1.00] 5.00 ~ 10.60 100.00| =hList | 500 ~ 12.65| 2.13 10.76
5 100kN/m##8 %% 1.00{ 0.00 ~ 0.69 110.22| 3m%*x#BZ 5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.60 ~ 12.65 110.22| 3m%#BZ % =l ~ = = =
s 1.00]0.69 ~ 847 100.00f Z=h st |0.00 ~ 8.47] 2.13 10.76 s 1.00] 5.00 ~ 10.60 100.00| =hList | 500 ~ 12.65| 2.13 10.76
6 100kN/mM%EBZ % -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM#%#8% % = -~ = —-|3m&xHZ5 -~ = = =
L 1.00{0.00 ~ 7.73 99.13| =hLls [|0.00 ~ 7.73| 2.56 12.93 Lo 1.00] 5.00 ~ 12.76 99.13| =nList | 500 ~ 12.76| 2.56 12.93
7 100kN/m##B %% 1.00{ 0.00 ~ 0.53 107.86| 3m%x %% = Kad = = —| 100kN/mM%Z#BZ % 1.00] 11.48 ~ 13.05 107.86| 3m%#BZ % =l ~ = = =
Lt 1.00] 053 ~ 8.31 100.00f Z1ld4t |0.00 ~ 8.31] 242 12.22 st 1.00] 500 ~ 11.48 100.00| =hlist | 500 ~ 13.05| 242 12.22
8 100kN/ Mm% X % 1.00{0.00 ~ 0.12 101.77| 3m%ZE#B 25 =1 ~ = = —| 100kN/mM%#BZ % 1.00] 10.69 ~ 11.00 101.77| 3m%E#Z 5 .l ~ - - =
Zh st 1.00]0.12 ~ 7.91 100.00f Z1uld4t |0.00 ~ 7.91| 2.28 11.51 st 1.00] 5.00 ~ 10.69 100.00| =xlist | 500 ~ 11.00| 2.28 11.51
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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